8.1 Intro to Logs

PRACTICE

DIRECTIONS: Rewrite each exponential function as a logarithmic function.
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Rewrite each log as an exponential.
7) logs27 =3 8) log,16 = 4 9)log.81 = —4
3 q N
5= 7= 3<%l
10) logs E =-3 11) log,8 = ; 12) log 100 = 2
A 3 2
=S 4 =¥ 10 =160
Find the following logs by rewrlting exponentially or explain why they don’t make sense.
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If f(x) = logyx, find the following. .
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Use your calculator to find the following logs to the nearest thousandth.
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Directions: Multiply. Directions: Divide, Directions: Solve _
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